o=
(B R EEHE) (25} ERBIES) 2A13H  HEREA R IHEA HR(FE->C-#EYD-IE)
o4 B | X O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP G
XEA 74 | 80 | 154 | |EEA& 15 5 | 20 445 2 2 4 BER 2 2
REEE 15 | 19 | 34 BEXRXE 5 6 | 11 EEE 2 2 4 HBEA 1 1
FRIK 4 | 2 6 TE75 4 5 9 bEZEA 1 3 4 =i 1 1
TEXE ik 1 2 3 e 2 7 9 SEHOHE 1 3 4 BEAXER 1 1
5 A B 3 3 EIETE 4 | 4| 8 EE# 2 1 3 wix 1 1
B A 1 1 2 fB2iE 3 4 7 TERE 2 1 3 BEEE 1 1
AL S 1 1 2 FRAER 3 4 7 =B 2 1 3 hoflsE 1 1
it B 5 1 1 HERK 2 5 7 ECES 2 1 3 ABEE 1 1
% 1 1 B2 E 3 3 6 = 1 2 3 EEd 1 1
REJEE 1 1 Rk 1 5 6 =Pz 1 2 3 XER 1 1
EBA 1 1 i YRES 1 5 6 B&RE2 1 1 2 Ak 1 1
BEE 2 2 TE&HR 3 2 5 XEEE 1 1 2 HFEA 1 1
INET 98 | 112 | 210 | |EAEER 3 2 5 REA 1 1 2

=WLb1) 2 | 3|5 (=573 2 | 2 it 76 | 96 | 172

xH 2 2 4 &%m 2 2 =111 174 | 208 | 382




o=
(B R EEHE) (25} ERBIES) 2A14B  TEHEAAHHEA HR (NS - )11 - (UFF - A L - 4 - 54 B %)
o4 B | X O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP| OB
XEA 73| 92 [ 165 |EEAE 14 | 21 | 35 ZEE 1 3 4 ERER 1 1
REEE 19 | 13 | 32 fB2iE 11| 14 | 25 BEEE 1 3 4 £ KER3 1 1
FRIE 13| 3 | 16 | |HHEETE 9 | 5 | 14| |2 1] 3| 4 s 1 1
TEXE ik 2 3 5 B E4%5 8 5 | 13 B&RE2 4 | 4 HBELS 1 1
f etk 1 1 2 3 BEx 7 3 | 10 BT 2 1 3 BH1 1 1
EiEE 1 2 3 SRR 4 6 | 10 SEHOHE 2 1 3 HBEA 1 1
AR 1 1 2 HEMK 3 6 9 BiEE 2 1 3 ABA 1 1
L£RE 1 1 2 BB 5 2 7 = 1 2 3 EEXE 1 1
5T 1 1 EEZEA 3 3 6 REA 3 3 XEE 1 1
B E 1 1 BAXRXE 3| 3| 6 EBE 1 1 2 B KER 1 1
A= 1 1 XEEF 4 1 5 F11EH 1 1 2 418 1 1
INEE 113 | 118 | 231 | |B2E 3 2 5 = 1Ip S 1 1 2 HFEA 1 1
EEH 3 2 5 ®rE 2 2 fERE 1 1
HE75 3 2 5 FERX 2 2 it 102 | 112 | 214
Rk 3 1 4 TEIEE 1 1 =111 215 | 230 | 445




o=
(B R EEHE) (25} ERBIES) 2ATSH  HEREA R IHEA HUR (& K- R =RE- HEV- R RER-THE)
EOmE 4 B | M| XD O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP G
XEA 60 | 89 | 149 | |EEAE 10| 6 | 16 BT 2 2 4 £ KER3 1 1
REEE 14 | 23 | 37 EEETE 7 8 | 15 XERE 1 3 4 B 1 1
5 A B 4 6 FRAER 4 8 | 12 ERER 1 3 4 B BT 1 1
TEXE ik 2 6 B 2 9 | 11 T8E 1 3 4 F1EE 1 1
AR 1 4 HEMK 5 5 | 10 EES 1 2 3 E11E1E 1 1
ERIR 2 2 BEXRXK 2 | 7] 9 L Z1E 2 2 L% 1 1
Z£A% 1 1 wix 6 2 8 XEeE 1 1 2 EEH 1 1
BAA777 1 1 2 ®rE 5 3 8 BEEHR 1 1 2 EEA 1 1
B&A007 1 1 Xk 2 6 8 HE75 1 1 2 Er=i=-14 1 1
el 1 1 B2 E 3 4 7 =P:] 2 2 hof3E 1 1
TEERA 1 1 S 2 | 5| 7 HMEA 2 | 2 BEA 1 1
INET 87 [ 123 | 210| |B&=E 2 | 4 6 L 2 2 Bk 1 1
ABta 3 1 4 = 1 1 fRRE 1 1
B4 3 1 4 [E %= 1 1
TEIEE 3 1 4 REA 1 1 it 82 | 101 | 183
i =R 4] 2 | 2| 4 TEBA 1 1 = 169 | 224 | 393




